

King Saud University

Journal of King Saud University – Science

www.ksu.edu.sa www.sciencedirect.com



ORIGINAL ARTICLE

On q-analogues of the Mangontarum transform for CrossMark certain q-Bessel functions and some application



S.K.Q. Al-Omari

Department of Applied Sciences, Faculty of Engineering Technology, Al-Balqa' Applied University, Amman 11134, Jordan

Received 28 February 2015; accepted 30 April 2015 Available online 16 May 2015

KEYWORDS

q-Laplace transform;

q-Mangontarum transform;

q-Bessel Function;

q-Sumudu transform

Abstract Several q-analogues of certain integral transforms have been recently investigated by many authors in the recent past. In this paper, we introduce certain analogues of the so-called q-Mangontarum transform and implement the proposed variants to given classes of q-Bessel functions. The results of this paper are new and complement the previously known results of Mangontarum (2014). Some results related to q-Laplace transforms are also obtained.

© 2015 The Author. Production and hosting by Elsevier B.V. on behalf of King Saud University. This is an open access article under the CC BY-NC-ND license (http://creativecommons.org/licenses/by-nc-nd/4.0/).

1. Introduction

Quantum calculus or q-calculus is receiving an increase of interest, mainly due to its applications in mathematics and physical sciences. It is a version of calculus where derivatives are differences and antiderivatives are sums and, no further limit nor smoothness is required. Since Jackson (1905) defined the q-differential operator, which is considered the outset of quantum calculus, it, compared to differential and integral calculus, is very recent and hence some rules and definitions have to be presented.

In this article, we spread our results into six sections. In Section 2, we recall some known definitions and notations from the q-theory. In Section 3, we give definitions of some

E-mail address: s.k.q.alomari@fet.edu.jo

Peer review under responsibility of King Saud University.



Production and hosting by Elsevier

q-analogues of the q-Mangontarum transform. In Section 4, we recall some series representation of a class of q-Bessel functions. In Section 5, we apply the q-Mangontarum transform of first type to a given class of q-Bessel functions. In Section 6, we compose some further hypergeometric series of the q-Mangontarum transform and employ the given series to the same class of q-Bessel functions. Finally, we are discussing some corollaries.

2. Definitions and preliminaries

We recall some definitions and notations from the q-calculus. Wherever it appears in this paper, a is a fixed complex number,

The q-shifted factorials are defined as

$$(a;q)_0 = 1; (a;q)_n = \prod_{k=0}^{n-1} (1 - aq^k), n = 1, 2, \dots; (a;q)_{\infty}$$
$$= \lim_{n \to \infty} (a;q)_n. \tag{1}$$

Notations that usually appear in this article are as follows

S.K.Q. Al-Omari

$$\begin{split} [x]_q &= \frac{1 - q^x}{1 - q}, x \in \mathbb{C}; \left([n]_q \right)! = \frac{(q; q)_n}{(1 - q)^n}, n \in \mathbb{N}; (a; q)_x \\ &= \frac{(a; q)_\infty}{(aq^x; q)_\infty}, x \in \mathbb{R} \bigg\}. \end{split} \tag{2}$$

A q-analogue of the exponential function of type two was introduced in Albayrak et al. (2013) as

$$e_q(x) = \sum_{n=0}^{\infty} \frac{x^n}{(q;q)_n} = \frac{1}{(x;q)_{\infty}}, |x| < 1,$$
 (3)

and that analogue of type one was also raised in Albayrak et al. (2013) as

$$\hat{e}_q(x) = \sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}} x^n}{(q;q)_n} = (x;q)_{\infty}, x \in \mathbb{C}.$$
 (4)

Jackson integrals from 0 to x and from 0 to ∞ were defined by Jackson (1905)

$$\int_{0}^{x} f(t)d_{q}t = x(1-q)\sum_{k=0}^{\infty} q^{k}f(xq^{k})$$
 (5)

$$\int_0^{\infty/A} f(t)d_q t = (1 - q) \sum_{k \in \mathbb{Z}} \frac{q^k}{A} f\left(\frac{q^k}{A}\right). \tag{6}$$

The straightforward conclusion of the q-shifted factorials is that

$$(q^{x+n};q)_{\infty} = \frac{(q^x;q)_{\infty}}{(q^x;q)_{\infty}}, n \in \mathbb{N}.$$

$$(7)$$

It is beneficial here that we recall the q-analogues of the gamma function,

$$\Gamma_{q}(\alpha) = \int_{0}^{1/(1-q)} x^{\alpha-1} \hat{e}_{q}(q(1-q)x) d_{q}x, (\alpha > 0)$$
 and
$$\tilde{\Gamma}_{q}(\alpha) = K(A; \alpha) \int_{0}^{\infty/A(1-q)} x^{\alpha-1} e_{q}(-(1-q)x) d_{q}x$$
 (8)

where, $\alpha_1 > 0$, $K(A; \alpha)$ is the function

$$K(A;\alpha) = A^{\alpha-1} \frac{(-q/\alpha;q)_{\infty}(-\alpha;q)_{\infty}}{(-q'/\alpha;q)_{\infty}(-\alpha q^{1-i};q)_{\infty}}.$$
(9)

For our benefit, we also state here some other properties of $\Gamma_q(\alpha)$ and $\tilde{\Gamma}_q(\alpha)$ functions:

$$\Gamma_{q}(\alpha) = \frac{(q;q)_{\infty}}{(1-q)^{\alpha-1}} \sum_{k=0}^{\infty} \frac{q^{k\alpha}}{(q;q)_{k}} = \frac{(q;q)_{\infty}}{(q^{\alpha}-q)_{\infty}} (1-q)^{1-x}, \quad (10)$$

 $x \neq 0, -1, -2, ...,$ and

$$\tilde{\Gamma}_{q}(\alpha) = \frac{K(A; \alpha)_{\infty}}{\left(1 - q\right)^{\alpha - 1} \left(-\frac{1}{A}; q\right)_{\infty}} \sum_{k \in \mathbb{Z}} \left(\frac{q^{k}}{A}\right) \left(-\frac{1}{A}; q\right)_{k}. \tag{11}$$

3. Mangontarum q-integral transform

Integral transforms have different q-analogues in the theory of q-calculus. Authors such as Abdi (1961), Purohit and Kalla (2007), Uçar and Albayrak (2011), Exton (1978) defined two types of q-analogues of the Laplace transform (of type one and of type two, rep.) as

$$L_{q}(f(t))(u) = \frac{1}{1 - q} \int_{0}^{\frac{1}{\nu}} f(t)\hat{e}_{q}(qut)d_{q}t$$
 (12)

and

$$_{q}L(f(t))(u) = \frac{1}{1-a} \int_{0}^{\infty} f(t)e_{q}(-ut)d_{q}t.$$
 (13)

In that manner, Albayrak et al. (2013), Fitouhi and Bettaibi (2006), Fitouhi and Bettaibi (2007), Hatem and Nadia (2009), Koornwinder and Swarttouw (1992), Fitouhi and Bouzeffour (in press), and some others, define various types of *q*-analogues of various integral transforms. In the sequence of these integrals, the *q*-Mangontarum integral transform was recently introduced in Mangontarum (2014) as the *q*-analogue of the Elzaki transform (Elzaki, 2011).

The q-Mangontarum transform of type one was defined over the set A as (Mangontarum, 2014, Def. 1)

$$T_q(f(t))(u) = u \int_0^\infty f(t)\hat{e}_q\left(-q\frac{t}{u}\right)d_qt$$
 (14)

where

$$A = \left\{ f(t) : \exists M, k_1, k_2 > 0, |f(t)| < M \hat{e}_q \left(\frac{|t|}{k_j} \right), t \in (-1)^j \times [0, \infty) \right\},$$
(15)

 $f(t) \in A, \ k_1 \leqslant u \leqslant k_2 \text{ and } 0 \leqslant t.$

On the other hand, the *q*-Mangontarum transform of type two was defined as (Mangontarum, 2014, Def. 15),

$$\widetilde{T}_q(f(t))(u) = u \int_0^\infty f(t)e_q\left(-\frac{t}{u}\right)d_qt \tag{16}$$

over the set

$$\bar{A} = \left\{ f(t) : \exists M, k_1, k_2 > 0, |f(t)| < Me_q\left(\frac{|t|}{k_j}\right), t \in (-1)^j \times [0, \infty) \right\}$$
(17)

where $f(t) \in \bar{A}$, $k_1 \le u \le k_2$ and $0 \le t$.

In this article, we introduce two analogues of the *q*-Mangontarum transform in the following manner:

Definition 1. (i) Over the set A in (15), we define the q-Mangontarum transform of type one as

$$T_{q}(f(t))(u) = \frac{1}{(1-q)u} \int_{0}^{u} f(t)\hat{e}_{q}\left(q\frac{t}{u}\right) d_{q}t, \tag{18}$$

where $f(t) \in A$, $k_1 \le u \le k_2$ and $0 \le t$.

(ii) We define the q-Mangontarum transform of type two as

$$\widetilde{T}_q(f(t))(u) = \frac{1}{(1-q)} \int_0^\infty f(t)e_q\left(-\frac{t}{u}\right) d_q t,\tag{19}$$

where $f(t) \in \bar{A}, k_1 \le u \le k_2$ and $0 \le t$.

4. q-Bessel functions

Bessel functions were first used by Bessel to describe three body motion appearing in series expansion on planetary perturbation. As the best known *q*-analogues of the Bessel function, type one and type two are respectively due to Jackson (1905), Exton (1978) and Ismail (1982) given as

$$J_{\mu}^{(1)}(z;q) = \left(\frac{z}{2}\right)^{\mu} \sum_{n=0}^{\infty} \frac{\left(\frac{-z^2}{4}\right)^n}{(q,q)_{\mu+n}(q;q)_n}, \ |z| < 2, \tag{20}$$

$$J_{\mu}^{(2)}(z;q) = \left(\frac{z}{2}\right)^{\mu} \sum_{n=0}^{\infty} \frac{q^{n(n+\mu)} \left(\frac{-z^2}{4}\right)^n}{(q,q)_{n+\mu}(q;q)_n}, \ z \in \mathbb{C}.$$
 (21)

By the idea of q-hypergeometric functions, (20) and (21) can respectively be defined as

$$J_{\mu}^{(1)}(z;q) = \frac{(q^{\mu+1};q)_{\infty}}{(q;q)_{\infty}} \left(\frac{z}{2}\right)^{\mu} {}_{2}\phi_{1} \left[\begin{matrix} 0 \\ q^{\mu+1} \end{matrix}; q, \frac{-z^{2}}{4} \end{matrix}\right], \tag{22}$$

$$J_{\mu}^{(2)}(z;q) = \frac{(q^{\mu+1};q)_{\infty}}{(q;q)_{\infty}} \left(\frac{z}{2}\right)^{\mu}{}_{0}\phi_{1} \begin{bmatrix} - \\ q^{\mu+1};q, \frac{q^{\mu+1}z^{2}}{4} \end{bmatrix}. \tag{23}$$

Hahn–Exton q-Bessel function (of type three) was introduced by Hahn (1953) and Exton (1978) as

$$J_{\mu}^{(3)}(z;q) = z^{\mu} \sum_{n=0}^{\infty} \frac{(-1)^n q^{\frac{n(n-1)}{2}} (qz^2)^n}{(q,q)_{\mu+n} (q;q)_n}, z \in \mathbb{C}.$$
 (24)

This kind of q-analogue has been presented in terms of q-hypergeometric functions as

$$J_{\mu}^{(3)}(z;q) = \frac{(q^{\mu+1};q)_{\infty}}{(q;q)_{\infty}} z^{\mu}{}_{1}\phi_{1} \begin{bmatrix} 0 \\ q^{\mu+1}; q, qz^{2} \end{bmatrix}. \tag{25}$$

5. q-Mangontarum transform T_q of q-Bessel functions

In this section of this paper, we focus our attention to the type one of q-Mangontarum transform.

On taking account of (5), the transform T_q can be written in terms of a series expansion as $T_q(f(t))(u) = \frac{1}{u} \sum_{k=0}^{\infty} q^k f(uq^k) \hat{e}_q(q^{k+1})$ and by (4) and (2) has a generic form as

$$T_{q}(f(t))(u) = (q;q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k}}{(q;q)_{k}} f(q^{k}u).$$
 (26)

Now we aim to estimate some values of the q-Mangontarum transform of type one of a class of q-Bessel functions.

Theorem 2. Let $f(t) = t^{\Delta-1} \prod_{j=1}^{n} J_{2\mu_{j}}^{(1)} (2\sqrt{a_{j}t}; q)$ be given. Then, we have

$$\begin{split} T_{q}(f(t))(u) &= (\delta_{\Delta}^{q}) \prod_{j=1}^{n} \sum_{m_{j}=0}^{\infty} (1-q)^{2\mu_{j}+m_{j}-1} \\ &\times \frac{\left(a_{j}^{\mu_{j}+m_{j}}\right) (q^{2\mu_{j}+m_{j}+1}; q)_{\infty}}{(q; q)_{m_{j}}} (u)^{\mu_{j}+m_{j}} \\ &\times \Gamma_{q} (2\mu_{j} + m_{j} - 1), \end{split}$$

where $\delta_{\Delta}^{q} = \frac{(u(1-q))^{\Delta}}{u(q;q)}$

Proof. By using (26) and (20) we get

$$T_{q}(f(t))(u) = u^{\Delta-1}(q;q)_{\infty} \prod_{j=1}^{\infty} (a_{j}u)^{\mu_{j}} \sum_{m_{j}=0}^{\infty} \frac{(a_{j}u)^{m_{j}}}{(q;q)_{2\mu_{j}+m_{j}}(q;q)_{m_{j}}} \times \sum_{k=0}^{\infty} \frac{q^{k(\Delta+\mu_{j}+m_{j})}}{(q;q)_{k}}.$$
(27)

By aid of (10) and the parity of (2), (27) reveals

$$T_{q}(f(t))(u) = (\delta_{\Delta}^{q}) \prod_{j=1}^{\infty} (a_{j}u)^{\mu_{j}} \sum_{m_{j}=0}^{\infty} \frac{(a_{j}u)^{m_{j}} (q^{2\mu_{j}+m_{j}+1}; q)_{\infty}}{(q; q)_{m_{j}}} \times (1-q)^{\mu_{j}+m_{j}} \Gamma_{q} (\Delta + \mu_{j} + m_{j}),$$

where $\delta_{\Delta}^{q} = \frac{(u(1-q))^{\Delta}}{u(q;q)_{\infty}}$.

A motivation of the previous equation completes the proof of the theorem.

Let us apply now the T_q transform to the family $\left\{J_{2\mu_i}^{(2)}(2\sqrt{a_it};q)\right\}_{i=1}^n$ of Bessel functions.

Theorem 3. Let $f(t) = t^{\Delta-1} \prod_{j=1}^{n} J_{2\mu_{j}}^{(2)}(2\sqrt{a_{n}t};q)$ be given. Then, we have

$$T_q(f(t))(u) = \left(\widehat{\delta_\Delta}\right) \prod_{j=1}^n \sum_{m_j=0}^\infty \frac{q^{m_j\left(m_j+2\mu_j\right)}\left(a_j\right)^{\mu_j+m_j}\left(q^{2\mu_j+m_j+1};q\right)_\infty}{\left(q;q\right)_{m_j}} \ (1-q)^{\mu_j+m_j} imes \Gamma_q\left(\Delta+\mu_j+m_j\right)u,$$

where $\widehat{\delta_{\Delta}^q} = \frac{(u(1-q))^{\Delta-1}}{(q;q)_{\infty}}$.

Proof. On account of (26), we obtain that

$$T_{q}(f(t))(u) = (q;q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k}}{(q;q)_{k}} \left(uq^{k}\right)^{\Delta-1} \prod_{j=1}^{\infty} J_{2\mu_{j}}^{(2)} \left(2\sqrt{a_{j}uq^{k}};q\right). \tag{28}$$

Invoking (21) in (28) yields

$$T_{q}(f(t))(u) = (q;q)_{\infty} u^{\Delta-1} \sum_{k=0}^{\infty} \frac{q^{k\Delta}}{(q;q)_{k}} \prod_{j=1}^{n} (a_{j}u)^{\mu_{j}} q^{k\mu_{j}} \sum_{m_{j}=0}^{\infty} \frac{q^{(m_{j}+2\mu_{j})m_{j}} (a_{j}uq^{k})^{m_{j}}}{(q;q)_{2\mu_{j}+m_{j}} (q;q)_{m_{j}}}.$$
(29)

By employing (20), (29) gives

$$T_{q}(f(t))(u) = u^{\Delta-1} \prod_{j=1}^{n} \sum_{m_{j}=0}^{\infty} \frac{q^{m_{j}(m_{j}+2\mu_{j})} (a_{j}u)^{\mu_{j}+m_{j}} (q^{2\mu_{j}+m_{j}+1};q)_{\infty}}{(q;q)_{m_{j}}} \sum_{k=0}^{\infty} \frac{q^{k(\Delta+\mu_{j}+m_{j})}}{(q;q)_{k}}.$$
(30)

On aid of (10), (30) fairly implies

$$T_{q}(f(t))(u) = \left(\widehat{\delta_{\Delta}^{q}}\right) \prod_{j=1}^{n} \sum_{m_{j}=0}^{\infty} \frac{q^{m_{j}(m_{j}+2\mu_{j})} \left(a_{j}\right)^{\mu_{j}+m_{j}} \left(q^{2\mu_{j}+m_{j}+1};q\right)_{\infty}}{\left(q;q\right)_{m_{j}}} \times \left(1-q\right)^{\mu_{j}+m_{j}} \Gamma_{q} \left(\Delta + \mu_{i} + m_{j}\right) u,$$

where $\widehat{\delta}^q_{\Lambda}$ has the usual meaning above.

This completes the proof of the theorem.

Finally in this section, we apply the q-Mangontarum transform to a class of q-Bessel functions of type three.

Theorem 4. Let $f(t) = t^{\Delta-1} \prod_{j=1}^{n} q_{2\mu_{j}}^{\mu_{j}(3)} \left(\sqrt{q^{-1} a_{n} t}; q \right)$ be given. Then, we have

$$\begin{split} T_{q}(f(t))(u) &= \left(\widehat{\delta_{\Delta}^{q}}\right) \prod_{j=1}^{n} \sum_{m_{j}=0} (-1)^{m_{j}} \frac{q^{m_{j}} \left(\frac{m_{j}-1}{2}\right) d_{j}^{\mu_{j}+m_{j}}}{(q;q)_{m_{j}}} (q^{2\mu_{j}+m_{j}+1};q)_{\infty} \\ &\times (1-q)^{\mu_{j}+m_{j}} \Gamma_{q} (\Delta + \mu_{j} + m_{j}) (u)^{\mu_{j}+m_{j}}, \end{split}$$

378 S.K.Q. Al-Omari

where
$$\widehat{\delta_{\Delta}^q} = \frac{(u(1-q))^{\Delta-1}}{(q;q)_{\infty}}$$
.

Proof. By (28) and (24) and direct computations we write

$$T_{q}(f(t))(u) = (q;q)_{\infty} u^{\Delta-1} \sum_{k=0}^{\infty} \frac{q^{k\Delta}}{(q;q)_{k}} \prod_{j=1}^{n} (a_{j}u)^{\mu_{j}} q^{k\mu_{j}} \sum_{m_{j}=0}^{\infty} \frac{(-1)^{m_{j}} q^{m_{j}} \binom{m_{j}-1}{2}}{(q;q)_{2\mu_{j}+m_{j}} (q;q)_{m_{j}}}$$

$$= (q;q)_{\infty} \frac{u^{\Delta-1}}{v^{\Delta}} \prod_{j=1}^{n} \sum_{m_{j}=0}^{\infty} \frac{(-1)^{m_{j}} q^{m_{j}} \binom{m_{j}-1}{2}}{(q;q)_{2\mu_{j}+m_{j}} (q;q)_{m_{j}}} \sum_{k=0}^{\infty} \frac{q^{k(\Delta\mu_{j}+m_{j})}}{(q;q)_{k}}.$$

$$(31)$$

By further use of (2) and (10), (31) finally yields

$$T_{q}(f(t))(u) = \left(\widehat{\delta_{\Delta}^{q}}\right) \prod_{j=1}^{n} \sum_{m_{j}=0} (-1)^{m_{j}} \frac{q^{m_{j}} \left(\frac{m_{j}-1}{2}\right) a_{j}^{\mu_{j}+m_{j}}}{(q;q)_{m_{j}}} (q^{2\mu_{j}+m_{j}+1};q)_{\infty} \times (1-q)^{\mu_{j}+m_{j}} \times \Gamma_{q} \left(\Delta + \mu_{j} + m_{j}\right) (u)^{\mu_{j}+m_{j}},$$

where $\widehat{\delta_{\Delta}^q}$ has the usual meaning.

This completes the proof of the theorem.

6. q-Mangontarum transform \widetilde{T}_q of q-Bessel functions

In this section of this article, we focus our attention on the q-Mangontarum transform of type two. The series representation of the second type q-Mangontarum can be derived from (5) as

$$\widetilde{T}_q(f(t))(u) = \sum_{k \in \mathbb{Z}} \frac{q^k f(q^k)}{(-uq^k; q)_{\infty}}.$$

By (2), this expression can be written as

$$\widetilde{T}_q(f(t))(u) = \frac{1}{(-u;q)_m} \sum_{t \in \mathbb{Z}} (-u;q)_k q^k f(q^k).$$
 (32)

We establish the following theorem.

Theorem 5. Let $f(t) = t^{\Delta-1} \prod_{j=1}^n J_{2\mu_j}^{(2)}(2\sqrt{a_jt};q)$. Then, we have

$$\begin{split} \widetilde{T}_{q}(f(t))(u) &= (\alpha_{\Delta}^{q}) \prod_{j=1}^{n} \sum_{m_{j}=0} (-1)^{m_{j}} \frac{a_{j}^{\mu_{j}+m_{j}} q^{m_{j}(\mu_{j}+m_{j})} (1-q)^{(\mu_{j}+m_{j})}}{k(u; \Delta + \mu_{j} + m_{j})} \\ &\times \widetilde{\Gamma}_{q}(\Delta + \mu_{j} + m_{j})(u)^{\mu_{j}+m_{j}}, \end{split}$$

where $(\alpha_{\Delta}^q) = \frac{(1-q)^{\Delta-1} u^{\Delta}}{(q;q)_{\infty}}$.

Proof. On account of (32) and (21), we by aid of (2) write

$$\widetilde{T}_{q}(f(t))(u) = \frac{1}{\left(-\frac{1}{u};q\right)_{\infty}} \prod_{j=1}^{n} \sum_{m_{j}=0}^{\infty} (-1)^{m_{j}} \frac{\left(a_{j}\right)^{(\mu_{j}+m_{j})} q^{m_{j}(\mu_{j}+m_{j})}}{\left(q;q\right)_{m_{j}}\left(q;q\right)_{\infty}} \left(q^{2\mu_{j}+m_{j}+1};q\right)_{\infty} \times \sum_{j} q^{k(\Delta+\mu_{j}+m_{j})} \left(-\frac{1}{u};q\right)_{\infty}.$$
(33)

By using (11) and setting A = u and $\alpha = \Delta + \mu_j + m_j$, we write (33) as

$$\begin{split} \widetilde{T}_{q}(f(t))(u) &= \frac{(1-q)^{\Delta-1}u^{\Delta}}{(q;q)_{\infty}} \prod_{j=1}^{n} \sum_{m_{j}=0}^{\infty} (-1)^{m_{j}} \\ &\times \frac{\left(a_{j}\right)^{(\mu_{j}+m_{j})} q^{m_{j}\left(2m_{j}+2\mu_{j}\right)} (1-q)^{(\mu_{j}+m_{j})} \Gamma\left(\Delta+\mu_{j}+m_{j}\right)}{K(u;\Delta+\mu_{i}+m_{j})} (u)^{\mu_{j}+m_{j}}. \end{split}$$

Hence the theorem is proved.

Theorem 6. Let $f(t) = t^{\Delta-1} \prod_{j=1}^{n} q^{m_j} J_{2\mu_j}^{(3)} (2\sqrt{q^{-1}a_jt}; q)$. Then we have

$$\begin{split} \widetilde{T}_{q}(f(t))(u) &= (\alpha_{\Delta}^{q}) \prod_{j=1}^{n} \sum_{m_{j}=0}^{\infty} (-1)^{m_{j}} \left(a_{j}\right)^{(\mu_{j}+m_{j})} q^{\frac{m_{j}\left(\mu_{j}+m_{j}\right)}{2}} \\ &\times \left(q^{m_{j}\left(\mu_{j}+m_{j}\right)}; q\right)_{\infty} \\ &\times \frac{(1-q)^{(\mu_{j}+m_{j})} \Gamma\left(\Delta + \mu_{j} + m_{j}\right)}{K(u; \Delta + \mu_{i} + m_{i})} (u)^{\mu_{j}+m_{j}}, \end{split}$$

where
$$(\alpha_{\Delta}^q) = \frac{(1-q)^{\Delta-1}u^{\Delta}}{(q;q)_{\infty}}$$

Proof. By using (32) and (24) we by aid of (2) write

$$\begin{split} \widetilde{T}_{q}(f(t))(u) &= \frac{1}{\left(-\frac{1}{u};q\right)_{\infty}(q;q)_{\infty}} \prod_{j=1}^{n} \sum_{m_{j}=0}^{\mu_{j}} (-1)^{m_{j}} \\ &\times \frac{\left(a_{j}\right)^{(\mu_{j}+m_{j})} \left(q^{2\mu_{j}+m_{j}+1};q\right)}{\left(q;q\right)_{m_{j}}} \\ &\times q^{\frac{m_{j}\left(m_{j}-1\right)}{2}} \sum_{k \in \mathbb{Z}} q^{k\left(\Delta + \mu_{j} + m_{j}\right)} \left(-\frac{1}{u};q\right)_{k}. \end{split}$$

Using of (11), for A = u and $\alpha = \Delta + \mu_i + m_i$, gives

$$\widetilde{T}_{q}(f(t))(u) = (\alpha_{\Delta}^{q}) \prod_{j=1}^{n} \sum_{m_{j}=0}^{\infty} (-1)^{m_{j}} \frac{\left(a_{j}\right)^{(\mu_{j}+m_{j})} q^{\frac{m_{j}(m_{j}-1)}{2}} (q^{2\mu_{j}+m_{j}+1}; q)}{K(u; \Delta + \mu_{j} + m_{j})} \times (1-q)^{(\mu_{j}+m_{j})} \Gamma_{q} (\Delta + \mu_{j} + m_{j}) \times \left(\frac{1}{u}\right)^{\mu_{j}+m_{j}},$$

where α_{Λ}^{q} has the usual meaning.

This completes the proof of the theorem.

Corollary 7. Let $J_1^{(1)} J_1^{(2)}$ be a Bessel function of type one and type two, respectively. Then,

(i)
$$T_q \left(t^{\Delta - 1} J_1^{(1)} \left(2\sqrt{at}; q \right) \right) (u) = (1 - q)^{\Delta} u^{\Delta - 1}$$

$$\sum_{0}^{\infty} \frac{(1 - q)^m}{(a^m; a)_1 (a^m; a)} (au)^m.$$

(ii)
$$T_q \left(t^{\Delta-1} J_1^{(2)} \left(2\sqrt{at}; q \right) \right) (u) =$$

$$(au)^{\frac{1}{2}} \frac{u^{\Delta-1}}{(1-q)^{\frac{1}{2}}} \sum_{m=0}^{\infty} \frac{q^{m(m+1)} (q^m;q)_{\infty}}{(q^m;q)_2 \left(q^{\Delta+m+1};q \right)_{\infty}} (u)^m.$$

(iii) Let
$$f(t) = t^{\Delta-1} \prod_{j=1}^{n} q^{m_j} J_{2\mu_j}^{(3)} \left(2\sqrt{q^{-1}a_jt}; q \right)$$
 and $\alpha_{\Delta}^q = \frac{(1-q)^{\Delta-1}u^{\Delta}}{(q;q)_{\infty}}$. Then,

$$\begin{aligned} & (\mathbf{i}') \ \ \widetilde{T}_q(f(t))(u) = (\alpha_{\Delta}^q) \prod_{j=1}^n \sum_{m_j=0}^{\infty} (-1)^{m_j} \left(a_j\right)^{(\mu_j + m_j)} \\ & q^{\frac{m_j \left(\mu_j + m_j\right)}{2}} \left(q^{m_j \left(\mu_j + m_j\right)}; q\right)_{\infty} \times \frac{(1 - q)^{(\mu_j + m_j)} \Gamma\left(\Delta + \mu_j + m_j\right)}{K\left(u : \Delta + \mu_j + m_j\right)} (u)^{\mu_j + m_j}, \end{aligned}$$

$$\begin{aligned} (\mathbf{ii''}) \ \ \widetilde{T}_q(f(t))(u) &= (\alpha_{\Delta}^q) \prod_{j=1}^n \sum_{m_j=0}^\infty (-1)^{m_j} (a_j)^{(\mu_j + m_j)} \\ q^{\frac{m_j(\mu_j + m_j)}{2}} \Big(q^{m_j(\mu_j + m_j)}; q \Big)_{\infty} \times \frac{(1 - q)^{(\mu_j + m_j)} \Gamma(\Delta + \mu_j + m_j)}{K(u; \Delta + \mu_j + m_j)} (u)^{\mu_j + m_j}. \end{aligned}$$

References

- Abdi, W.H., 1961. On q-Laplace transforms. Proc. Natl. Acad. Sci. India 29, 389–408.
- Albayrak, D., Purohit, S.D., Ucar, F., 2013. On q-Sumudu transforms of certain q-polynomials. Filomat 27 (2), 413–429.
- Elzaki, T.M., 2011. The new integral transform 'Elzaki transform'. Global J. Pure Appl. Math. 7 (1), 57–64.
- Exton, H., 1978. A basic analogue of the Bessel-Clifford equation. Jnanabha 8, 49–56.
- Fitouhi, A., Bettaibi, N., 2006. Wavelet transforms in quantum calculus. J. Nonlinear Math. Phys. 13 (3), 492–506.
- Fitouhi, A., Bettaibi, N., 2007. Applications of the Mellin transform in quantum calculus. J. Math. Anal. Appl. 328, 518–534.
- Fitouhi, A., Bouzeffour, F., 2012. The q-cosine Fourier transform and the q-heat equation. Ramanujan J. 28, 443–461. http://dx.doi.org/10.1007/s11139-012-9412-8.
- Hahn, W., 1953. Die mechanische deutung einer geometrischen differenzengleichung. Z. Angew. Math. Mech. 33, 270-272.

- Hatem, M., Nadia, S., 2009. Gabor transform in quantum calculus and applications. Fract. Cal. Appl. Anal. 12 (3), 319–336.
- Ismail, M.E.H., 1982. The zeros of basic Bessel functions, the functions $J_{v+ax(x)}$, and associated orthogonal polynomials. J. Math. Anal. Appl. 86 (1), 1–19.
- Jackson, F.H., 1905. The application of basic numbers to Bessel's and Legendre's functions. Proc. London Math. Soc. 2 (1), 192–220.
- Koornwinder, T.H., Swarttouw, R.F., 1992. On q-analogues of the Fourier and Hankel transforms. Trans. Am. Math. Soc. 333, 445–461.
- Mangontarum, M.M., 2014. On a q-analogue of the Elzaki transform called Mangontarum q-transform. Discr. Dynam. Nat. Soc. 2014, 9. Article ID 825618.
- Purohit, S.D., Kalla, S.L., 2007. On q-Laplace transforms of the q-Bessel functions. Fract. Calc. Appl. Anal. 10 (2), 189–196.
- Uçar, F., Albayrak, D., 2011. On q-Laplace type integral operators and their applications. J. Diff. Eqs. Appl. iFirst Article, 1–14.